Additional Answers
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20.

A s L2
/POH ~ SRQ (Given)
2. QR == QR (Rell. Prop.)
3. APQR = ASRQ
(ASA)
4. PR = SO (Corr. parts
of = A are =)

1. WZ 1. plane M
(Givgn)
2. WZ L XZ, W2 1YZ
(Det. of line | plane)
3. m/iWZX - 90

= ml W2y
(Def. of i lines, rt. L)
4. UZXY = o ZVYX
(Given)
$. ZX =ZY (12 4 ofa
A are ==, thaen the sides
opp.‘t_hose _‘_ﬁ are =)
6. WZ = WZ (Refl. Prop.)
7. AWZX = AXZY
(SA§)_
8. WX = WY (Corr. parts
of = 4 are =)

b,
~—

omplete,
l. If ALEG = OARM, then GL = _1_and ARMA = _1_.
L In isosceles AABC., m{A = 130. The legs are sides

miB =

% You want to prove ARST = AXYZ by SAS. If you have ST = YZ and

MA

?_ (numerical answer). 2§

AEGL

?

LT = (Z you must show that _?_=_? . g7, xZ

Chapier 3

and _1_.

4. The congruence method that applies only to right triangles is the

method. HL
5. If AJKL is cquilateral, then mZK =

tains the opposite side is called a(n)

?_. the andpoints of the segment

equidistant from

ASA, AAS, or HL? .
10.

Yes, HL

12. 13.
'Yos. AAS No

¥/ 4C is the perpendicular bisector of BD.
. a. A is equidistant from .Z_and _* . 8. D

8. Use inductive reasoning to complete: 100, 99, 97, 94, 90, 85, ., _? |

1L

No

?

?_ (numerical answer). 60

6. A perpendicular segment from a vertex of a triangle to the line that con-
?__ of the triangle. altitude

7. A point lies on the perpendicular bisector of a segment if and only if it js

? .79, 72

Can the triangles be proved congruent? If so, by which method, SSS, SAS,

14,
Yes, SAS

b. C is equidistant from _?_and _* . 8, D
16. Name two isosceles triangles. 248D, ACBD
:17. Name three pairs of congruent triangles.

AAMB == AAMD, ACMB = ACMD, LADC = AABC
x + 2y, find the values of x and y. x = 20. y = 30

9. Given: £Z1 = 22, LPQR= LSRQ
Prove: PR = E

A8 In AJKL, JL=KL. f m{J=x+y,m/K =2x +10,and mLL =

20. Given: WZ L plane M;

LZXY &= LZYX

Prove: WX = WY
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